%‘ Topic :

The chapge fJL bases ond the change gf coordinate s .
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ond the reletion between the two sets ?j basis vectors Is

L) vnI3 ave two Mses ﬁ’k’l;
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=2 Anew = Aot.t-P ; Where Pis aued the transition matrix .

( Since W, --- Vrare Llinearly mdepeat vectors in IR", then A.dd is invertible.

Simila.rLg, we Can Show that A.npewo (S invertible.

|
D P= Atd- Anews D det(A) = detC Abia - Anewd) ="dot (A AeECAnew) Fo

=S P is invertible = Aded, Anrew , P ave all invertible -
lu; the Ceovdinate ?f a vector LU , LeIR" Telative to the two baseS ave

Xotd = ( X, X, --.,X,n)T’ and. new = € x) , x1|’__.)m,'|)'l'.

Then  U=x-0 4+ X+~ + X W= %0 + %285 + - + Xl

SV Vi) (%, X, - Xa) =V V2o 10)-C%iy X, - Xon)



) Anew . Xnew = A_.old. - Kold

S  Xnew = A-,;'ew - Aold - Xold. %)
Oince Anew = Aold -P, then Fold = Anew- P

= (Xonew = A hew Anew - P Xold

= P2 Xotd. ™
Qjcorlclusfom:

If the ChQnJe c:f bases S Anew = Aol - P.
the change D\f CoovdinateS is Ilpep = P—' Zold .



